/—\WWM \(.9. bt AL\ =447,

\%“ﬁ"“ /18
N Py = 23000 4 #3000 . 29000 . 29000
.——/%)4 vxho,og < f e T, TM , + 23000 i
4+ 9 ( )" (4+006)3  (4+006)" Qe
= 19\02458
esea VB,
Taxoeo‘a& ""‘&\MM &@l‘n)o“'“:
L = Vxig = odooo x 15 .
Y& o = o0pg

V ’ ~
-*ml’w(""\t MVV\QO@ WM &WW V\ouwg*‘éik M50 ppS
(SN Rt S i ST
CAr-TTe  DVMMOIMIA -
P\( = 3P0 + 200 s+ 300 . 300
+ i I o= + 300 _
Mo (eonr (00 Wrom) “Gaga)s ~ PE

L%o«ggm,q o
%@x;di\“% o M«QMW M
%:& = 30000 w 4§/ foo = 94500
%‘ W oA W‘Y’W Mﬂ&,& Wa Loaoe~ OWAW—K A AT
ST =20 -3 30000 -I500 = JASOD

Bw = B€ /((44 E)}”)

&ﬂ ;,_‘_li.ﬂ = 22500
(44 018)~ 4 on 16459




